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Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
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ECONOMICS

•Õ¸‡ÊÊSòÊ
(318)

Time : 3 Hours ] [ Maximum Marks : 100

‚◊ÿ — 3 ÉÊá≈U ] [ ¬ÍáÊÊZ∑§ — 100

Notes :

(i) This question paper consists of 50 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Section - A consists of :

(a) Q.No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark each. Select
and write the most appropriate option out of the four options given in each of these
questions.

(b) Q.No. 21 to 35 -  Objective type questions carrying 2 marks each (with 2 sub-parts of 1
mark each). Attempt these questions as per the instructions given for each of the
questions 21 to 35.

(v) Section - B consists of :

(a) Q.No. 36 to 42 - Very Short Answer type questions carrying 2 marks each
to be answered in the range of 30 to 50 words.

(b) Q.No. 43 to 48 - Short Answer type questions carrying 4 marks each to be answered in
the range of 50 to 80 words.

(c) Q.No. 49 and 50 - Long Answer type questions carrying 6 marks each to be answered
in the range of 80 to 120 words.

ÁŸŒ¸‡Ê —
(i) ß‚ ¬˝‡Ÿ-¬òÊ ◊¥ ∑È§‹ 50 ¬˝‡Ÿ „Ò¥–
(ii) ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥–
(iii) ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ ‚Ê◊Ÿ ©‚∑§ •¥∑§ ÁŒ∞ ª∞ „Ò¥–
(iv) πá«U - A ◊¥ -

(a) ¬˝‡Ÿ ‚¥ÅÿÊ 1 ‚ 20 ’„ÈÁfl∑§À¬Ëÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥, ¡Ê ¬˝àÿ∑§ 1 •¥∑§ ∑§Ê „Ò– ßŸ ¬˝‡ŸÊ¥ ◊¥ ¬˝àÿ∑§ ◊¥ ÁŒÿ ªÿ
øÊ⁄U Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ Áfl∑§À¬ øÈÁŸÿ.

(b) ¬˝‡Ÿ ‚¥ÅÿÊ 21 ‚ 35 flSÃÈÁŸc∆U ¬˝‡Ÿ „Ò¥, ¬˝àÿ∑§ ¬˝‡Ÿ 2 •¥∑§Ê¥ ∑§Ê „Ò (ŒÊ ©¬÷Êª ∑§ ‚ÊÕ ¬˝àÿ∑§ ∑§Ê 1 •¥∑§)
¬˝‡Ÿ ‚¥ÅÿÊ 21 ‚ 35 ◊¥ ¬˝àÿ∑§ ¬˝‡Ÿ ◊¥ ŒË ªß¸ ‚ÍøŸÊ •ŸÈ‚Ê⁄U ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞–

(v) πá«U - B§◊¥ -
(a) ¬˝‡Ÿ ‚¥ÅÿÊ 36 ‚ 42 •ÁÃ‹ÉÊÈ-©ûÊ⁄UËÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥,  ¬˝àÿ∑§ ∑§ 2 •¥∑§ „Ò¥ •ÊÒ⁄U ©ûÊ⁄U ∑§Ë ‚Ë◊Ê 30 ‚ 50

‡ÊéŒ „Ò–
(b) ¬˝‡Ÿ ‚¥ÅÿÊ 43 ‚ 48 ‹ÉÊÈ-©ûÊ⁄UËÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥,  ¬˝àÿ∑§ ∑§ 4 •¥∑§ „Ò¥ •ÊÒ⁄U ©ûÊ⁄U ∑§Ë ‚Ë◊Ê 50 ‚ 80 ‡ÊéŒ

„Ò–
(c) ¬˝‡Ÿ ‚¥ÅÿÊ 49 •ÊÒ⁄U 50 ŒËÉÊ¸-©ûÊ⁄UËÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥,  ¬˝àÿ∑§ ∑§ 6 •¥∑§ „Ò¥ •ÊÒ⁄U ©ûÊ⁄U ∑§Ë ‚Ë◊Ê 80 ‚ 120

‡ÊéŒ „Ò–



3  [ Contd...68/ESS/1-318-C ]

SECTION - A / πá«U - A

1. Which of the following correctly defines Law of demand ? 1

(A) When price falls demand rises.

(B) Price and demand of a good are inversely related.

(C) Price and demand move in same direction.

(D) Other things remaining the same, there is inverse relationship between price and
demand of a commodity.

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ◊Ê°ª ∑§ ÁŸÿ◊ ∑§Ë ‚„Ë ¬Á⁄U÷Ê·Ê ∑§ÊÒŸ ‚Ë „Ò?

(A) ∑§Ë◊Ã ∑§◊ „ÊŸ ¬⁄U ◊Ê°ª ’…∏ÃË „Ò–

(B) flSÃÈ ∑§Ë ∑§Ë◊Ã •ÊÒ⁄U ◊Ê°ª ◊¥ Áfl¬⁄UËÃ ‚¥’¥œ „ÊÃÊ „Ò–

(C) flSÃÈ ∑§Ë ∑§Ë◊Ã •ÊÒ⁄U ◊Ê°ª ∞∑§ „Ë ÁŒ‡ÊÊ ◊¥ ¬Á⁄UflÁÃ¸Ã „ÊÃ „Ò¥–

(D) •ãÿ ’ÊÃ¥ ¬Ífl¸flÃ˜ ⁄U„Ÿ ¬⁄U flSÃÈ ∑§Ë ∑§Ë◊Ã •ÊÒ⁄U ◊Ê°ª ◊¥ Áfl¬⁄UËÃ ‚¥’¥œ „ÊÃÊ „Ò–

2. A point inside a production possibility curve shows : 1

(A) growth of resources (B) under utilisation  of resources

(C) overutilisation of resources (D) change in technique of productions

©à¬ÊŒŸ ‚¥÷ÊflŸÊ fl∑˝§ ∑§ •¥Œ⁄U ∑§Êß¸ Á’¥ŒÈ Œ‡ÊÊ¸ÃÊ „Ò —

(A) ‚¥‚ÊœŸÊ¥ ∑§Ë ‚¥flÎÁh (B) ‚¥‚ÊœŸÊ¥ ∑§Ê •À¬ ©¬ÿÊª

(C) ‚¥‚ÊœŸÊ¥ ∑§Ê ˇÊ◊ÃÊ ‚ •Áœ∑§ ©¬ÿÊª (D) ©à¬ÊŒŸ ¬˝áÊÊ‹Ë ◊¥ ¬Á⁄UflÃ¸Ÿ

3. Which of the following is a direct tax ? 1

(A) Excise duty (B) Wealth tax

(C) Income Tax (D) All of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ¬˝àÿˇÊ ∑§⁄U „Ò?

(A) ©à¬ÊŒŸ ‡ÊÈÀ∑§ (B) ‚¥¬ÁûÊ ∑§⁄U

(C) •Êÿ ∑§⁄U (D) ©¬⁄UÊÄÃ ‚÷Ë

NOTE / ÁŸŒ¸‡Ê :
(1) Answers of all questions are to be given in the Answer-Book given to you.

‚÷Ë ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U •Ê¬∑§Ê ŒË ªß¸ ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „Ë Á‹π¥–
(2) 15 minutes time has been allotted to read this question paper. The question paper will be distributed

at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and
will not write any answer on the answer-book during this period.

ß‚ ¬˝‡Ÿ-¬òÊ ∑§Ê ¬…∏Ÿ ∑§ Á‹∞ 15 Á◊Ÿ≈U ∑§Ê ‚◊ÿ ÁŒÿÊ ªÿÊ „Ò– ¬˝‡Ÿ-¬òÊ ∑§Ê ÁflÃ⁄UáÊ ŒÊ¬„⁄U ◊¥ 02.15 ’¡ Á∑§ÿÊ ¡Ê∞ªÊ–
02.15 ’¡ ‚ 02.30 ’¡ Ã∑§ ¿UÊòÊ ∑§fl‹ ¬˝‡Ÿ-¬òÊ ∑§Ê ¬…∏¥ª •ÊÒ⁄U ß‚ •flÁœ ∑§ ŒÊÒ⁄UÊŸ fl ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ¬⁄U ∑§Êß¸ ©ûÊ⁄U Ÿ„Ë¥
Á‹π¥ª–
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4. Which of the following equations is correct ? 1

(A) S  I  Y+ = (B) mpc  apc  1+ =

(C)
1

k  
mpc
= (D) C  I  Y+ =

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ‚◊Ë∑§⁄UáÊ ∆UË∑§ „Ò?
(A) ’¡Ã+ÁŸfl‡Ê = ⁄UÊc≈˛UËÿ •Êÿ (B) ‚Ë.©.¬˝.+•ÊÒ.©.¬˝. = 1

(C)
1

k  =
‚Ë.©.¬̋. (D) ©¬÷Êª+ÁŸfl‡Ê = •Êÿ

5. ‘Inter-dependence’ is the feature of this type of market : 1

(A) Perfect competition (B) Monopoly

(C) Monopolistic competition (D) Oligopoly

“•¥ÃÁŸ¸÷¸⁄UÃÊ” ß‚ ¬˝∑§Ê⁄U ∑§ ’Ê¡Ê⁄U ∑§Ë Áfl‡Ê·ÃÊ „Ò —
(A) ¬ÍáÊ¸ ¬˝ÁÃÿÊÁªÃÊ (B) ∞∑§ÊÁœ∑§Ê⁄U
(C) ∞∑§ÊÁœ∑§Ê⁄UÊà◊∑§ ¬˝ÁÃÿÊÁªÃÊ (D) •À¬ÊÁœ∑§Ê⁄U

6. A supply curve parallel to OY-axis is : 1

(A) elastic supply curve. (B) inelastic supply curve.

(C) perfectly elastic supply curve. (D) perfectly inelastic supply curve.

OY-•ˇÊ ∑§ ‚◊ÊŸÊãÃ⁄UU ¬ÍÁÃ¸ fl∑˝  —
(A) ‹ÊøŒÊ⁄U ¬ÍÁÃ¸ fl∑˝  „ÊÃË „Ò– (B) ’‹ÊøŒÊ⁄U ¬ÍÁÃ¸ fl∑˝  „ÊÃË „Ò–
(C) ¬ÍáÊ¸ÃÿÊ ‹ÊøŒÊ⁄U ¬ÍÁÃ¸ fl∑˝  „ÊÃË „Ò– (D) ¬ÍáÊ¸ÃÿÊ ’‹ÊøŒÊ⁄U ¬ÍÁÃ¸ fl∑˝  „ÊÃË „Ò–

7. Consumption curve : 1

(A) Passes through the origin (B) Cuts OX axis

(C) Cuts OY axis (D) Cuts OX or OY axis

©¬÷Êª fl∑˝§ —
(A) ©Œ˜ª◊ Á’¥ŒÈ ‚ ªÈ¡⁄UÃË „Ò– (B) OX •ˇÊ ∑§Ê ∑§Ê≈UÃË „Ò–
(C) OY •ˇÊ ∑§Ê ∑§Ê≈UÃË „Ò– (D) OX ÿÊ OY Á∑§‚Ë ∑§Ê ÷Ë ∑§Ê≈UÃË „Ò–

8. When the demand of a goods ‘increases’, demand curve : 1

(A) shifts to the right.

(B) shifts to the left.

(C) does not shifts but there is downward movement along the curve.

(D) there is no change in demand curve.

¡’ flSÃÈ ∑§Ë ◊Ê°ª ◊¥ “flÎÁh” „ÊÃË „Ò, ÃÊ ◊Ê°ª fl∑˝§ —
(A) ŒÊ°ÿË •Ê⁄U Áπ‚∑§ÃË „Ò–
(B) ’Ê°ÿË •Ê⁄U Áπ‚∑§ÃË „Ò–
(C) Ÿ„Ë¥ Áπ‚∑§ÃË ’ÁÀ∑§ fl∑˝§ ∑§ ‚¥ªÃU ŸËø ∑§Ë •Ê⁄U •ÊÃ „Ò¥–
(D) ◊Ê°ª fl∑˝  ◊¥ ∑§Êß¸ ¬Á⁄UflÃ¸Ÿ Ÿ„Ë¥ „ÊÃÊ–
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9. Which of the following supply curves have elasticity of supply > 1 ? 1

(A) Supply curve passing through the origin
(B) Supply curve cutting OX-axis
(C) Supply curve cutting OY-axis
(D) None of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ¬ÍÁÃ¸ fl∑˝§ ∑§Ë ‹Êø 1 ‚ •Áœ∑§ „ÊªË?
(A) ©Œ˜ª◊ Á’¥ŒÈ ‚ ªÈ¡⁄UÃË ¬ÍÁÃ¸ fl∑˝§
(B) OX-•ˇÊ ∑§Ê ∑§Ê≈UUÃË „Èß¸ ¬ÍÁÃ¸ fl∑˝§
(C) OY-•ˇÊ ∑§Ê ∑§Ê≈UÃË „Èß¸ ¬ÍÁÃ¸ fl∑˝§
(D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

10. Product is homogenous under : 1

(A) Perfect competition. (B) Monopolistic competition.
(C) Both (A) and (B). (D) None of the above.

©à¬ÊŒ ‚◊M§¬ „ÊÃÊ „Ò —
(A) ¬ÍáÊ¸ ¬˝ÁÃÿÊÁªÃÊ ◊¥– (B) ∞∑§ÊÁœ∑§Ê⁄UÊà◊∑§ ¬˝ÁÃÿÊÁªÃÊ ◊¥–
(C) (A) •ÊÒ⁄U (B) ŒÊŸÊ¥– (D) ©¬⁄UÊÄÃ ◊¥ ‚ Á∑§‚Ë ◊¥ Ÿ„Ë¥

11. Which of the following is a Stock ? 1

(A) Income (B) Savings
(C) Wealth (D) None of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê S≈UÊÚ∑§ „Ò ?
(A) •Êÿ (B) ’øÃ
(C) ‚ê¬ÁûÊ (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

12. Revenue expenditure creates : 1

(A) Liability (B) Asset
(C) Both asset and liability (D) None of the above

⁄UÊ¡Sfl √ÿÿ ‚ —
(A) ŒŸŒÊ⁄UË ©à¬ãŸ „ÊÃË „Ò– (B) ¬Á⁄U‚¥¬ÁûÊ ’…∏ÃË „Ò–
(C) ŒŸŒÊ⁄UË •ÊÒ⁄UU ¬Á⁄U‚¥¬ÁûÊ ŒÊŸÊ¥ ©à¬ãŸ „ÊÃË „Ò– (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥–

13. Which of the following equations is correct ? 1

(A) Indirect Taxes−Direct Taxes=Subsidies
(B) Indirect Taxes−Subsidies=Net Indirect Taxes
(C) Direct Taxes+Subsidies=Net Direct Taxes
(D) None of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ‚◊Ë∑§⁄UáÊ ‚„Ë „Ò?
(A) •¬˝àÿˇÊ ∑§⁄U−¬˝àÿˇÊ ∑§⁄U=•ÊÁÕ¸∑§ ‚„ÊÿÃÊ
(B) •¬˝àÿˇÊ ∑§⁄U−•ÊÁÕ¸∑§ ‚„ÊÿÃÊ=ÁŸfl‹ •¬˝àÿˇÊ ∑§⁄
(C) ¬˝àÿˇÊ ∑§⁄+•ÊÁÕ¸∑§ ‚„ÊÿÃÊ=ÁŸfl‹ ¬˝àÿˇÊ ∑§⁄
(D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥–
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14. Which of the following is a country’s National Income ? 1

(A) GNP @ f.c (B) NNP @ mp
(C) NDP @ f.c (D) NNP @ f.c

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ⁄UÊc≈˛UËÿ •Êÿ ∑§„¥ª¥?
(A) ‚ÊœŸ ‹ÊªÃ ¬⁄U ‚∑§‹ ⁄UÊc≈˛UËÿ ©à¬ÊŒ (B) ’Ê¡Ê⁄U ∑§Ë◊Ã ¬⁄U ÁŸfl‹ ⁄UÊc≈˛UËÿ ©à¬ÊŒ
(C) ‚ÊœŸ ‹ÊªÃ ¬⁄U ÁŸfl‹ ÉÊ⁄U‹Í ©à¬ÊŒ (D) ‚ÊœŸ ‹ÊªÃ ¬⁄U ÁŸfl‹ ⁄UÊc≈˛UËÿ ©à¬ÊŒ

15. Price discrimination is possible under  : 1
(A) Monopoly. (B) Perfect competition.
(C) Monopolistic competition. (D) None of the above.

∑§Ë◊Ã Áfl÷ŒË∑§⁄UáÊ ‚¥÷fl „Ò —
(A) ∞∑§ÊÁœ∑§Ê⁄U ◊¥– (B) ¬ÍáÊ¸ ¬˝ÁÃÿÊÁªÃÊ ◊¥–
(C) ∞∑§ÊÁœ∑§Ê⁄UÊà◊∑§ ¬˝ÁÃÿÊÁªÃÊ– (D) Á∑§‚Ë ◊¥ Ÿ„Ë¥–

16. Which of the following is included in National Income ? 1

(A) Receipts from sale of old newspapers
(B) Sale of old house
(C) Gifts received from employer
(D) None of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ⁄UÊc≈˛UËÿ •Êÿ ◊¥ ‡ÊÊÁ◊‹ ∑§⁄UÃ „Ò¥ ?
(A) ¬È⁄UÊŸ •π’Ê⁄U ’øŸ ∑§ ’ÊŒ ¬˝ÊåÃ ⁄UÊÁ‡Ê
(B) ¬È⁄UÊŸ ◊∑§ÊŸ ∑§Ê Áfl∑˝§ÿ
(C) ÁŸÿÊ¡∑§Ê¥ ‚ ¬ÊÿÊ ©¬„Ê⁄U
(D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥–

17. Value of Investment Multiplier can be equal to : 1

(A) Zero (B) Infinity

(C) Negative (D) Any of the above

ÁŸfl‡Ê ªÈáÊ∑§ ∑§Ê ◊ÍÀÿ ’⁄UÊ’⁄U „Ê ‚∑§ÃÊ „Ò —
(A) ‡ÊÍãÿ ∑§ (B) •ŸãÃ ∑§
(C) ´§áÊÊà◊∑§ (D) ©¬⁄UÊQ§ ◊¥ ‚ Á∑§‚Ë ∑§

18. If A and B are complementary goods then increase in price of A will lead to : 1

(A) increase in demand for B (B) decrease in demand for B
(C) no change in demand for B (D) any one of the above

ÿÁŒ A •ÊÒ⁄ B ¬Í⁄U∑§ flSÃÈ∞° „Ò¥, ÃÊ A ∑§Ë ∑§Ë◊Ã ’…∏Ÿ ¬⁄U —
(A) B ∑§Ë ◊Ê°ª ’…∏ªË– (B) B ∑§Ë ◊Ê°ª ÉÊ≈UªË–
(C) B ∑§Ë ◊Ê°ª ◊¥ ∑§Êß¸ ¬Á⁄UflÃ¸Ÿ Ÿ„Ë¥ „ÊªÊ– (D) ©¬⁄UÊÄÃ ◊¥ ∑§Êß¸ ÷Ë–

19. Supply curve of a commodity is normally : 1
(A) positively sloped (B) negatively sloped
(C) parallel to OX-axis (D) parallel to OY-axis

∞∑§ flSÃÈ ∑§Ë ¬ÍÁÃ¸ fl∑˝§ ‚Ê◊ÊãÿÃ— —
(A) œŸÊà◊∑§ …∏‹ÊŸ flÊ‹Ë „ÊÃË „Ò– (B) ´§áÊÊà◊∑§ …∏‹ÊŸ flÊ‹Ë „ÊÃË „Ò–
(C) OX-•ˇÊ ∑§ U‚◊ÊŸÊ¥Ã⁄U „ÊÃË „Ò– (D) OY-•ˇÊ ∑§ ‚◊ÊŸÊ¥Ã⁄U „ÊÃË „Ò–
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20. A and B are substitute goods. An increase in price of A will lead to __________ 1

(A) increase in demand for B.

(B) decrease in demand for B.

(C) a very little change in demand for B.

(D) no change in demand for B.

A •ÊÒ⁄U B ¬˝ÁÃSÕÊ¬Ÿ flSÃÈ∞° „Ò– A ∑§Ë ∑§Ë◊Ã ’…∏Ÿ ‚ __________

(A) B ∑§Ë ◊Ê°ª ’…∏ªË–

(B) B ∑§Ë ◊Ê°ª ÉÊ≈UªË–

(C) B ∑§Ë ◊Ê°ª ◊¥ ’„ÈÃ ∑§◊ ¬Á⁄UflÃ¸Ÿ „ÊªÊ–

(D) B ∑§Ë ◊Ê°ª ◊¥ ∑§Êß¸ ¬Á⁄UflÃ¸Ÿ Ÿ„Ë¥ „ÊªÊ–

21. State True or False : 2

(i) Demand curve of a firm under perfect competition is perfectly inelastic.

(ii) Demand curve of a firm under monopolistic competition is perfectly elastic.

’ÃÊß∞ ‚„Ë ÿÊ ª‹Ã —

(i) ¬ÍáÊ¸ ¬˝ÁÃÿÊÁªÃÊ ◊¥ ∞∑§ »§◊¸ ∑§Ê ◊Ê°ª fl∑˝§ ¬ÍáÊ¸ÃÿÊ ’‹Êø „ÊÃÊ „Ò–

(ii) ∞∑§ÊÁœ∑§ÊÁ⁄U∑§ ¬˝ÁÃÿÊÁªÃÊ ◊¥ ∞∑§ »§◊¸ ∑§Ê ◊Ê°ª fl∑˝§ ¬ÍáÊ¸ÃÿÊ ‹ÊøŒÊ⁄U „ÊÃÊ „Ò–

22. Excess demand in a perfectly competitive market occurs __________ the equilibrium price
while excess supply occurs __________ the equilibrium price.

¬ÍáÊ¸ ¬˝ÁÃÿÊÁªÃÊ ’Ê¡Ê⁄U ◊¥ ◊Ê°ª •ÊÁœÄÿ ∑§Ë ÁSÕÁÃ ‚¥ÃÈ‹Ÿ ∑§Ë◊Ã ‚ __________ ∑§Ë ∑§Ë◊Ã ¬⁄U „ÊÃË „Ò ¡’Á∑§ ¬ÍÁÃ¸
•ÊÁœÄÿ ∑§Ë ÁSÕÁÃ ‚¥ÃÈ‹Ÿ ∑§Ë◊Ã ‚ __________∑§Ë ∑§Ë◊Ã ¬⁄U „ÊÃË „Ò–

23. State True or False : 2

(i) Giffen goods do not follow the Law of Demand.

(ii) Normal goods follow the Law of Demand.

’ÃÊß∞ ‚„Ë ÿÊ ª‹Ã —

(i) ◊Ê°ª ∑§Ê ÁŸÿ◊ ÁªÁç»§Ÿ flSÃÈ•Ê¥ ¬⁄U ‹ÊªÍ Ÿ„Ë¥ „ÊÃÊ–

(ii) ◊Ê°ª ∑§Ê ÁŸÿ◊ ‚Ê◊Êãÿ flSÃÈ•Ê¥ ¬⁄U ‹ÊªÍ „ÊÃÊ „Ò–

24. When price of a commodity falls __________ income of the consumer __________. 2

¡’ ∞∑§ flSÃÈ ∑§Ë ∑§Ë◊Ã Áª⁄UÃË „Ò __________ ©¬÷ÊÄÃÊ ∑§Ë •Êÿ __________ ¡ÊÃË „Ò–

25. Fill in the Blanks : 2

πÊ‹Ë SÕÊŸ ÷Á⁄U∞ —
Supply of a commodity is the __________ offered for sale at a price during a __________ of
time.

Á∑§‚Ë flSÃÈ ∑§Ë •Ê¬ÍÁÃ¸ flSÃÈ ∑§Ë fl„ __________ „Ò ¡Ê ∞∑§ __________ ∑§Ë •flÁœ ∑§ ŒÊÒ⁄UÊŸ Á’∑˝§Ë ∑§ ¬˝SÃÈÃ
∑§Ë ¡ÊÃË „Ò–

2
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26. Two categories of measures to control inflation are __________ policy and __________ policy.

S»§ËÁÃ ÁŸÿ¥òÊáÊ ∑§Ê ÁŸÿ¥òÊáÊ ∑§⁄UŸ ∑§ ©¬ÊÿÊ¥ ∑§Ë ŒÊ flª¸ __________ ŸËÁÃ •ÊÒ⁄U __________ŸËÁÃ „Ò–

27. Excess supply is the __________ between supply and demand when supply is __________
than demand.

¡’ •Ê¬ÍÁÃ¸ ◊Ê°ª ‚ __________ „Ê ÃÊ •Ê¬ÍÁÃ¸ •ÊÒ⁄U ◊Ê°ª ∑§Ê __________ •Ê¬ÍÁÃ¸ •ÊÁœÄÿ ∑§„‹ÊÃÊ „Ò–

28. Measure of value is the __________ function while store of value is the __________ function
of money.

◊ÍÀÿ ∑§Ê ◊Ê¬∑§ __________ ∑§Êÿ¸ „Ò ¡’Á∑§ ◊ÍÀÿ „Ò ‚¥ª˝„ ◊ÈŒ˝Ê ∑§Ê ∞∑§ __________∑§Êÿ¸ „Ò–

29. __________ is an example of direct tax while __________ is an example of indirect tax. 2

__________ ¬˝àÿˇÊ-∑§⁄U ∑§Ê ∞∑§ ©ŒÊ„⁄UáÊ „Ò ¡’Á∑§ __________ ¬⁄UÊˇÊ-∑§⁄U ∑§Ê ∞∑§ ©ŒÊ„⁄UáÊ „Ò–

30. __________ is an example of real flow while __________ is an example of money flow in an
economy.

∞∑§ •Õ¸√ÿflSÕÊ ◊¥ __________ flÊSÃÁfl∑§ ¬˝flÊ„ „Ò ¡’Á∑§ __________ ◊ÊÒÁŒ˝∑§ ¬˝flÊ„ ∑§Ê ©ŒÊ„⁄UáÊ „Ò–

31. State True or False : 2

(i) Stationary purchased by an office is a final good.

(ii) Sugar purchased by a shopkeeper is an intermediate good.

’ÃÊß∞ ‚„Ë ÿÊ ª‹Ã —

(i) ∞∑§ •ÊÚÁ»§‚ mÊ⁄UÊ S≈U‡ÊŸ⁄UË ∑§Ë π⁄UËŒ •¥ÁÃ◊ flSÃÈ „Ò–

(ii) ∞∑§ ŒÈ∑§ÊŸŒÊ⁄U  mÊ⁄UÊ øËŸË ∑§Ë π⁄UËŒ ◊äÿflÃË¸ flSÃÈ „Ò–

32. When price elasticity of demand is unit elastic percentage change in __________ equals
percentage change in __________.

¡’ ∑§Ë◊Ã ◊Ê°ª ‹Êø ß∑§Êß¸ ‹Êø „ÊÃË „Ò ÃÊ __________  ◊¥ ¬˝ÁÃ‡ÊÃ ¬Á⁄UflÃ¸Ÿ __________ ◊¥ ¬˝ÁÃ‡ÊÃ
¬Á⁄UflÃ¸Ÿ ∞∑§ ‚◊ÊŸ „ÊÃ „¥Ò–

33. State True or False : 2

(i) Direct relation between price and demand of a good is never possible.

(ii) Availability of substitutes makes the demand of a good less elastic.

’ÃÊß∞ ‚„Ë ÿÊ ª‹Ã —

(i) ∑§Ë◊Ã •ÊÒ⁄U ◊Ê°ª ◊¥ ‚ËœÊ ‚¥’¥œ ∑§÷Ë ÷Ë ‚¥÷fl Ÿ„Ë¥–

(ii) ¬˝ÁÃSÕÊŸÊ¬ãŸ flSÃÈ•Ê¥ ∑§Ë ©¬‹éœÃÊ ‚ ∞∑§ flSÃÈ ∑§Ë ◊Ê°ª ∑§◊ ‹ÊøŒÊ⁄U „Ê ¡ÊÃË „Ò–

2

2

2

2

2
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34. State True or False : 2

(i) If with change in price total expenditure on the good also moves in the same direction,
the demand for the good is elastic.

(ii) Price elasticity of demand (−2) is higher than price elasticity (−1).

’ÃÊß∞ ‚„Ë ÿÊ ª‹Ã —
(i) ÿÁŒ flSÃÈ ∑§Ë ∑§Ë◊Ã ◊¥ ¬Á⁄UflÃ¸Ÿ ∑§ ∑§Ê⁄UáÊ ©‚ ¬⁄U „ÊŸ flÊ‹ √ÿÿ ◊¥ ∞∑§ „Ë ÁŒ‡ÊÊ ◊¥ ¬Á⁄UflÃ¸Ÿ „Ê ÃÊ ©‚ flSÃÈ

∑§Ë ◊Ê°ª ‹ÊøŒÊ⁄U „ÊªË–
(ii) ◊Ê°ª ∑§Ë ∑§Ë◊Ã ‹Êø (−2), ◊Ê°ª ∑§Ë ∑§Ë◊Ã ‹Êø (−1) ‚ •Áœ∑§ „ÊÃË „Ò–

35. Fill in the blanks : 2

πÊ‹Ë SÕÊŸ ÷Á⁄U∞ —
In a government budget, the receipt that either creates a liability or reduces assets is called
__________ receipt, while the one which neither creates a liability nor reduces assets is called
__________.

‚⁄U∑§Ê⁄UË ’¡≈U ◊¥, ¡Ê ¬˝ÊÁ# ŒŸŒÊ⁄UË ©à¬ãŸ ∑§⁄UÃË ÿÊ ¬Á⁄U‚¥¬ÁûÊ ÉÊ≈UÊÃË fl„ __________ ¬˝ÊÁ# ∑§„‹ÊÃË „Ò ¡’Á∑§ ¡Ê
Ÿ ÃÊ ŒŸŒÊ⁄ËU ©à¬ãŸ ∑§⁄UÃË „Ò •ÊÒ⁄U Ÿ „Ë ¬Á⁄U‚ê¬ÁûÊ ÉÊ≈UÊÃË „Ò, __________ ¬˝ÊÁ# ∑§„‹ÊÃË „Ò–

SECTION - B / πá«U - B

36. Draw : (i) Total cost curve. 2

(ii) Total variable cost curve of a firm in a single diagram.

∞∑§ »§◊¸ ∑§Ë — (i) ∑È§‹ ‹ÊªÃ fl∑˝§ •ÊÒ⁄U

(ii) ∑È§‹ ¬Á⁄UflÃË¸ ‹ÊªÃ fl∑˝  ∞∑§ „Ë ⁄UπÊÁøòÊ ◊¥ ’ŸÊß∞–

37. Explain the meaning of optimum utilisation resources. 2

‚¥‚ÊœŸÊ¥ ∑§ ∑È§‡Ê‹Ã◊ ©¬ÿÊª ∑§Ê •Õ¸ ‚◊¤ÊÊß∞–

OR/•ÕflÊ
Explain the meaning of growth of resources.

‚¥‚ÊœŸÊ¥ ∑  ‚¥flÎÁh ∑§Ê •Õ¸ ‚◊¤ÊÊß∞–

38. State any four factors that can came a rightward shift of supply curve. 2

∞‚ ∑§Êß¸ øÊ⁄U ∑§Ê⁄U∑§ ’ÃÊß∞ Á¡Ÿ‚ ∞∑§ flSÃÈ ∑§Ë ¬ÍÁÃ¸ fl∑˝  ŒÊ°ÿË •Ê⁄U Áπ‚∑§ ‚∑§ÃË „Ò–

39. State the assumptions of law of Supply. 2

•Ê¬ÍÁÃ¸ ∑§ ÁŸÿ◊ ∑§Ë ◊ÊãÿÃÊ∞° ’ÃÊß∞–

40. State any two problems faced in the construction of index number. 2

‚Íø∑§Ê¥∑§ ’ŸÊÃ ‚◊ÿ •ÊŸflÊ‹Ë ∑§Êß¸ ŒÊ ∑§Á∆UŸÊßÿÊ°  ’ÃÊß∞–
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41. Explain when can a production possibility curve be a straight line. 2

∞∑§ ©à¬ÊŒŸ ‚¥÷ÊflŸÊ fl∑˝§ ‚ËœË ⁄UπÊ ∑§’ „Ê ‚∑§ÃÊ „Ò? ‚◊¤ÊÊß∞–

42. In a factory, there are 15 skilled and 10 unskilled workers.  Their daily wage is Rs. 500 and
Rs. 400 respectively.  Find the average daily wage of these 25 workers.

∞∑§ »Ò§Ä≈˛UË ◊¥ 15 ∑È§‡Ê‹ •ÊÒ⁄U 10 •∑È§‡Ê‹ ◊¡ŒÍ⁄U ∑§Ê◊ ∑§⁄UÃ „Ò– ßŸ∑§Ë ŒÒÁŸ∑§ ◊¡ŒÍ⁄UË ∑˝§◊‡Ê— 500 M§. •ÊÒ⁄U 400 M§.
„Ò– ‚÷Ë 25 üÊÁ◊∑§Ê¥ ∑§Ë ŒÒÁŸ∑§ •ÊÒ‚Ã ◊¡ŒÍ⁄UË ôÊÊÃ ∑§ËÁ¡∞–§

43. Calculate arithmetic mean : 4

•¥∑§ªÁáÊÃËÿ ◊Êäÿ ∑§Ê ¬Á⁄U∑§‹Ÿ ∑§ËÁ¡∞–
Marks Number of Students

•¥∑§ ÁfllÊÁÕ¸ÿÊ¥ ∑§Ë ‚¥ÅÿÊ
0 - 20 10
20 - 40 30
40 - 60 20
60 - 80 20

44. In an economy : 4
(i) autonomous consumption = Rs. 1000
(ii) mpc = 0.75
(iii) Income = 50000
Calculate consumption expenditure.

∞∑§ •Õ¸√ÿflSÕÊ ◊¥ —
(i) SflÊÿûÊ ©¬÷Êª = 1000 M§.
(ii) ‚Ë.©.¬˝ = 0.75

(iii) •Êÿ = 50000

©¬÷Êª √ÿÿ ÁŸ∑§ÊÁ‹∞–

45. Calculate National Income : (` 000) 4
(i) Compensation of Employees 10000
(ii) Interest 500
(iii) Rent 600
(iv) Distributed Profit 5000
(v) Mixed income of self employed 50000
(vi) Profits 20000
(vii) Net indirect taxes 1000
(viii) Net factor income from abroad    (−)200
(ix) Depreciation 400
⁄UÊc≈˛UËÿ •Êÿ ∑§Ê ¬Á⁄U∑§‹Ÿ ∑§ËÁ¡∞ — (` 000)

(i) ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§Ê ¬ÊÁ⁄UüÊÁ◊∑§ 10000

(ii) éÿÊ¡ 500

(iii) Á∑§⁄UÊÿÊ 600

(iv) ÁflÃÁ⁄UÃ ‹Ê÷ 5000

(v) SflÁŸÿÊÁ¡ÃÊ¥ ∑§Ë Á◊ÁüÊÃ •Êÿ 50000

(vi) ‹Ê÷ 20000

(vii) ÁŸfl‹ •¬˝àÿˇÊ ∑§⁄U 1000

(viii) ÁflŒ‡ÊÊ¥ ‚ ÁŸfl‹ ‚ÊœŸ •Êÿ   (−)200

(ix) ÁÉÊ‚Êfl≈U 400

2
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46. Explain the role of the Central bank as banker : 4

(i) To the Government

(ii) To the Commercial banks

∑§ãŒ˝Ëÿ ’Ò¥∑§ ∑§Ê ÁŸêŸÁ‹ÁπÃ ÷ÍÁ◊∑§Ê ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

(i) ‚⁄U∑§Ê⁄U ∑§Ê ’Ò¥∑§⁄U

(ii) flÊÁáÊÁíÿ∑§ ’Ò¥∑§Ê¥ ∑§Ê ’Ò¥∑§⁄U

OR/•ÕflÊ
Explain ‘providing employment’ objective of Budgetary policy.

’¡≈UËÿ ŸËÁÃ ∑§Ê “⁄UÊ¡ªÊ⁄U ∑§ •fl‚⁄U ¬˝ŒÊŸ ∑§⁄ŸÊ” ©g‡ÿ ‚◊¤ÊÊß∞–

47. In an economy mpc = 0.8 and autonomous consumption is Rs. 500.  Calculate its
consumption expenditure if its level of income (Y) is Rs. 10,000.

∞∑§ •Õ¸√ÿflSÕÊ ◊¥ ‚Ë.©.¬˝.= 0.8 „Ò, •ÊÒ⁄U SflÊÿûÊ ©¬÷Êª = 500 M§. ÿÁŒ ß‚∑§Ê •Êÿ ∑§Ê SÃ⁄U (Y) 10,000U M§.
„Ò, ÃÊ ©¬÷Êª √ÿÿ Á∑§ÃŸÊ „ÊªÊ?

OR/•ÕflÊ
Show the situation of excess demand in an economy with the help of a diagram.

∞∑§ ⁄UπÊÁøòÊ ∑§Ë ‚„ÊÿÃÊ ‚ ∞∑§ •Õ¸√ÿflSÕÊ ◊¥ ◊Ê°ª •ÊÁœÄÿ ∑§Ë ÁSÕÁÃ Œ‡ÊÊ¸ß∞–

48. State any four precautions that should be taken while estimating National Income by
production method.

©à¬ÊŒŸ ÁflÁœ ‚ ⁄UÊc≈˛UËÿ •Êÿ ∑§Ë ªáÊŸÊ ∑§⁄UÃ ‚◊ÿ ’⁄UÃË ¡ÊŸ flÊ‹Ë ∑§Êß¸ øÊ⁄U ‚ÊflœÊÁŸÿÊ° ’ÃÊß∞–

49. Calculate Laspeyer’s Price Index. 6

‹ÊS¬ÿ⁄U ∑§ Á∑§◊Ã ‚Èø∑§Ê¥∑§ ∑§Ê ¬Á⁄U∑§‹Ÿ ∑§ËÁ¡∞ —

Base Year/•ÊœÊ⁄U fl·¸ Current Year/øÊ‹Í fl·¸
Commodity Price Quantity Price Quantity

flSÃÈ ∑§Ë◊Ã (Rs.) ◊ÊòÊÊ ∑§Ë◊Ã (Rs.) ◊ÊòÊÊ
A 2 8 4 10

B 4 12 5 14

C 6 10 2 8

D 8 22 6 12

OR/•ÕflÊ
Calculate Consumer Price Index for the year 2010 on the basis of year 2005.

fl·¸ 2010 ∑§ Á‹∞, 2005 ∑§Ê •ÊœÊ⁄U ◊ÊŸ ∑§⁄U ©¬÷ÊQ§Ê ‚Íø∑§Ê¥∑§ ∑§Ê ¬Á⁄U∑§‹Ÿ ∑§ËÁ¡∞ —
Commodity Weight Price (2005) Price (2010)

flSÃÈ    ÷Ê⁄ ∑§Ë◊Ã (2005) ∑§Ë◊Ã (2010)

A     20 30 45

B     30 20 25

C     50 10 15

4

4
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50. Following table shows the marks obtained by 5 students in English and Economics. 6

1 2 3 4 5

Marks in English 14 11 10 18 9

Marks in Economics 12 15 8 16 10

Calculate Rank correlation.

ÁŸêŸÁ‹ÁπÃ ÃÊÁ‹∑§Ê 5 ÁfllÊÁÕ¸ÿÊ¥ mÊ⁄UÊ •¥ª˝¡Ë •ÊÒ⁄U •Õ¸‡ÊÊSòÊ ◊¥ ¬˝Ê# •¥∑§ Œ‡ÊÊ¸ÃË „Ò–
1 2 3 4 5

•¥ª˝¡Ë ◊¥ •¥∑§ 14 11 10 18 9

•Õ¸‡ÊÊSòÊ ◊¥ •¥∑§ 12 15 8 16 10

∑˝§◊ ‚„‚ê’ãœ ¬Á⁄U∑§‹Ÿ ∑§ËÁ¡∞–

- o O o -


